USING ONLY THE VARIATION OF PARAMETER FORMULA:
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Find the particular integral for each of the equations below:

1) [image: ]	
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Show each step clearly
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Tutorial (Portfolio questions have been marked with the asterisk
symbol *. There are four * marks below.)

1. Using the variation of parameters method, find a particular integral for each of the
following equations:
) Yy +3y 42y =4e*
@) y'—2y' -8y =3
(iif) * y" — 4y = sinh2x
(iv) * ¥ +4y = cos3x
) y"+9y=sin3x

2. For the following equations, a complementary function 7 is already given. Use the
variation of parameters method to find a particular integral for each equation:

(@ * 2%y —4xy' +6y =2 Yep = Ax? + Bx®
G) A%y —3xy 4y =ah Yer = ¥*(A+BInx)
() 4x%y" —4xy’ + 3y = 8x*/3; Ve = AxH? + Bx3/2

3. (a) Write a corollary to the Wronskian theorem presented in the lecture for the case when
a value of x exists such that W(x) = 0.
(b) Find the Wronskian of the following pairs of functions. Hence deduce whether or not
they are linearly independent on the interval [1,1].
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ework. You may downioad this item instead.
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